
8046
8046F8046N



  
8

5
c
m

  

  130cm  

  
1

1
8

c
m

  

  286cm  

  131cm  

  
7

4
c
m

  

  61cm  

  286cm  

  
1

3
0

c
m

  

  220cm  

  
1

3
0

c
m

  

  281cm  

  118cm  

  
1

3
0

c
m

  

  205cm  

  
1

2
5

c
m

  

E2 E3

E4 E5 E6

E7

x8 x1 x10

x4 x2

x2

8046N

E8

x1

90

E9

x1

x1

x1 x2x1

E10 E11 E12

E14 E15E13

x1 x1x4

90
90

90

E1

  
1

1
0

c
m

  

  
1

0
5

c
m

  

  
3

7
c
m

  

  
2

7
c
m

  



  
1

0
7

c
m

  

  
1

0
7

c
m

  

  60cm  

  
7

4
c
m

  

  19cm  

  
1

9
c
m

  

  
7

4
c
m

  

  80cm  

  59cm  

  
7

4
c
m

  

  
7

4
c
m

  

  70cm  

  70cm  

  
7

4
c
m

  

  56cm  

  
7

4
c
m

  

  80cm  

  
7

4
c
m

  

  80cm  

  70cm  

  
7

4
c
m

  

  10  

E17 E18

E19 E20 E21

E22

x1 x1 x1

x1 x1

x1

8046N

E23

x1

E24

x1

x1

x4 x3x45

E25 E26 E27

E29 E30E28

x4 x20x1

E16

  
7

4
c
m

  

  85cm  



  8
2°

  

  
5

3
c
m

  

E32

x15

8046N
E31

x1

E33

x1
E34 E35

x1x4



  286cm  

  118cm  

  
8

5
c
m

  

  130cm  

  
1

3
0

c
m

  

  220cm  

  
1

3
0

c
m

  

  281cm  

  
1

1
8

c
m

  

  286cm  

  131cm  

  
7

4
c
m

  

  61cm  

  
1

3
0

c
m

  

  205cm  

  
2

7
c
m

  

  
1

1
0

c
m

  

  
1

0
5

c
m

  

  
1

2
5

c
m

  

  
3

7
c
m

  

E2 E3

E4 E5 E6

E7

x8 x1 x10

x4 x2

x2

8046F

E8

x1

90

E9

x1

x1

x1 x2x1

E10 E11 E12

E14 E15E13

x1 x1x4

90
90

90

E1



  
5

2
c
m

  

  
5

2
c
m

  

  
1

5
c
m

  

  
7

4
c
m

  

  85cm  

  
7

4
c
m

  

  80cm  

  
7

4
c
m

  

  80cm  

  60cm  

  
7

4
c
m

  

  59cm  

  
7

4
c
m

  

  
7

4
c
m

  

  80cm  

  10  

  70cm  

  
7

4
c
m

  

  70cm  

  
7

4
c
m

  
  
7

4
c
m

  

  70cm  

  56cm  
  19cm  

  
1

9
c
m

  

E17 E18

E19 E20 E21

E22

x1 x1 x1

x1 x1

x1

8046F

E23

x1

E24

x1

x1

x4 x3x45

E25 E26 E27

E29 E30E28

x4 x20x1

E16



E32

x15

8046F
E31

x1

E33

x1
E34

x1



  
3

  

8046N 8046F

Nr Element Ʃ

1 - S6x60 336

2 - W6x60 288

3 - K2_d30_B 1

10 DIN 9021 6x18 27

11 DIN 1587 M6 8

15 ISO 7380 M6x30 20

16 - K1_d21_B 24

17 - Z1_d21_B 24

21 DIN 125 8x16 53

22 DIN 125 6x12 20

27 DIN 571 8x140 24

30 DIN 9021 8x24 16

43 DIN 1587 M8 12

45 ISO 7380 M8x30 8

58 - LOCTITE 1

107 ISO 7380 M8x20 4

Nr Element Ʃ

1 - S6x60 336

2 - W6x60 288

3 - K2_d30_B 1

10 DIN 9021 6x18 19

15 ISO 7380 M6x30 20

16 - K1_d21_B 24

17 - Z1_d21_B 24

21 DIN 125 8x16 53

22 DIN 125 6x12 20

27 DIN 571 8x140 24

30 DIN 9021 8x24 16

43 DIN 1587 M8 12

45 ISO 7380 M8x30 8

58 - LOCTITE 1

61 - KL105 79

107 ISO 7380 M8x20 4



Nr Element Ʃ

109 DIN 913 10x10 12

117 DIN 7991 M6x80 8

131 ISO 7380 M8x60 8

135 - S4x70 58

149 - ALUZ SD 6

179 - Z_ECO_1 19

180 - K_ECO_1 19

213 - Z_NA_1 1

214 - Z_NA_2 1

Nr Element Ʃ

109 DIN 913 10x10 12

131 ISO 7380 M8x60 8

135 - S4x70 58

149 - ALUZ SD 6

179 - Z_ECO_1 19

180 - K_ECO_1 19

213 - Z_NA_1 1

214 - Z_NA_2 1

8046N 8046F



E26E27

E14

E16

E4

E5

E6

E8E10

E9

E28

E29

E30

E21

E23

E15

E2

E30

E7

E11

E12

E12

E34

E34

E13

E17

E22

E18E20

E19

E24

E25

E25

8046N

E32

E33

E31



E4

E26
E27

E5

E6

E8E10

E9

E28

E29

E30

E21

E23

E15

E16

E14

E2

E30

E7

E11

E12

E12

E13

E17

E22

E18E20

E19

E24

E25

E25

8046F

E32

E33

E31



INST_80_101

INST_80_102

INST_80_103

!

8046N
8046F

8046N
8046F2

INST_80_6

INST_80_44

1



  
1

2
c
m

  

E33E32E31

E1+E31

E3+E31

E3+E31

E4+E31

E3+E31

E3+E31

E3+E31

E2+E32
+E33

E3+E31

E3+E31
E1+E31

E3+E31

E1+E31

E3+E31

E3+E31

E1+E31

!2



INST_80_105

8046N
8046F

8046N
8046F4

INST_80_106

INST_80_100

3



INST_80_7

INST_Z_3

8046N
8046F

8046N
8046F6

INST_80_31

INST_80_18

INST_80_98

5



  150  

  150  

  1
5

0
  

  150  

  150  
  1

5
0

  

  543  

  843  

  5
1

9
  

  8
1

9
  

  1
5

0
  

  150  
  1

5
0

  

  1
5

0
  

  150  

  150  

8
0

4
6

N
8

0
4

6
F



  55    70    90  

  2
5x

40
  

  11  

  
7

0
  

  
7

0
  

  
8

0
  

  
1

4
0

  
  
5

6
  

  7  

  126  

  7  

  
5

6
  

  
5

6
  

  
1

4
0

  
  
6

1
  

  
6

5
  

  
5

9
  

  
5

4
  

  138  

  5  

  
5

0
  

  40  

  50  

  
4

0
  

  7    126    7  

  
4

6
  

  
1

4
0

  

  
1

4
0

  
  
8

0
  

  80    80    66  

  
5

5
  

  7  
  131  

8046N
8046F



  
4

7
  

  
1

0
  

  
8

3
  

C-C (1 : 25)

"0"

B-B (1 : 25)

"0"

  
9

  

A-A (1 : 25)

  
1

2
  

  
2

0
  

  
3

5
  

B

B

C

C

A A

8046N
8046F



  30  

  10  

  5  

  137    30  

  10    60  

  137  

  5  

  5  

"
0
"

"
0
"

8
0

4
6

N

8
0

4
6

F



 4
0

 

 40cm 
 6

0
c
m

 

8046N
min. 24HB15 0,8m3



 2
m

m
 

nr 17

V

30Nm

            

10

 m
in

 8
0

m
m

 

I II

III IV VI

8046F



MAX
9cm

A

A

A-A 

A-A

 

a

b

8046N
8046F

"0"

 

"0"

"0"

SAND

0,3 m
3


